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Section A: Multiple Choice Questions (3°*6=18’)

A-1. Firm ABC just decided to issue new stock to raise capital. What signal will most likely be sent the
market?

A. Bond markets are overpriced.
B. Bond markets are underpriced.
C. Stock price is too low.

D. Stock price is too high.

A-2. Firm XYZ is expected to have EPS of $3.00 in the coming year. The expected ROE is 16%. An
appropriate required return on the stock is 12%. If the dividend payout ratio is 40%, then the intrinsic
value of the stock is close to:

A. $32.14,
B. $30.00.
C. $10.00.

D. $50.00.

A-3. A major advantage to the use of debt is the tax benefit. However, debt will also put pressure on the
firm to

A. meet interest and principal payments. If not, the company might be put into financial distress.
B. make dividend payments. If not, the company might be put into financial distress.

C. make dividend payments, which if not met can put the company into financial distress; and to meet
both interest and dividend payments, which when met increase the firm cash flow.

D. meet both interest and dividend payments, which when met increase the firm cash flow; and to meet
increased tax payments, thereby increasing firm value,
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A-4. Modigliani and Miller's Proposition 1 states that

A. the market value of any firm is independent of its capital structure.

B. the market value of a firm's debt is independent of its capital structure.

C. the market value of a firm's common stock is independent of its capital structure.

D. None of the options are correct.

A-S. A firm has a WACC of 9.375%, a pretax cost of debt of 5%, a cost of equity of 12%, and a marginal
corporate income tax rate of 35%. What percent of the firm is financed with equity?

A, 50%
B. 60%
C. 70%

D. None of the above

A-6. Three years ago you purchased a bond for $971.55. The bond had three years to maturity, a coupon
rate of 9%, paid annually, and a face value of $1,000. Each year you reinvested all coupon interest at the
prevailing reinvestment rate shown in the table below. Today is the bond's maturity date. The realized
compound yield on the bond is close to: (Please round to two decimals while calculating.)

Time Prevailing Reinvestment Rate
0 (purchase date) 5%
1 8.6%
2 8.2%
3 {maturity date)} 7.2%

A. 14.67%

B.11.91%

C. 12.35%

D. 10.00%

E. 13.57%
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Section B. Short Questions (327)
B-1: If the semiannual yield to maturity {YTM) for an investment is 3.92%. then what is its effective

annual yield (EAY)? (47)

B-2: Please briefly illustrate how you would use the Fama-French three-factor model to estimate the cost
of equity for a firm. (Please demonstrate your answer with equation in FOUR SENTENTCES OR LESS.
Each sentence should be {onger than 20 words. Otherwise, your answer may not get credit.) (6°)

B-3: Does it make sense that holding a U.S. Treasury bill will always provide returns lower than those of
the S&P 500 index? (Please provide brief answer in TWO SENTENTCES OR LESS. Each sentence
should be NO longer than 20 words. Otherwise, your answer may not get credit.} (6°)

B-4: Does it make sense that in a competitive securities market, successive price changes are random?
(Please briefly explain your answer in FIVE SENTENCES OR LESS. Each sentence should be NO
longer than 20 words. Otherwise, your answer may not get credit.) (87)

B-5: Suppose firm XYZ’s common stock is priced at $130 a share. One of the call options of firm
XYZ with the striking price of $160 and six months to expiration is quoted at $0.05. Why do you
suppose investors would be willing to purchase a call that is so far out of the money? (Please briefly
explain your answer in FOUR SENTENCES OR LESS. Each sentence should be NO longer than 20
words. Otherwise, your answer may not get credit.) (87)
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A BB (BTUEEXRE WATHEN  EHEAEES8EP42!1])

UFRELEEBFGSEZ CNOBEZEM (null space) ~dim() B4 E
( dimension ) ~ CS() %472 (column space) ~ RSO A F Z/H (row
space) ~ tr(") &% (trace) ~det()H47%5 X {& (determinant) - rank()

A% (rank)

I (6%) %AH— B 8BRS BTE) « AT FIGE -

¥ NAT) =N@AT) -

z : dim(RS(4)) = dim(CS(AT4)) -

7 N(ABCS(ATAZ A EZHE -

T : RS(A) = RS(ATA) -
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2. (6%) HRFF A RFER N ETEI BT ?
52x% 4+ 72xy + 73y* — 160x — 130y — 25 =0
(A)isE B)#dg (Oirsy D)RMIL AR E)RXELEIE -

3. (6%) ZABWEEHRTREBEMAES-3,0,2,3 > AT R

7 dim(N(4AT)) =1-

Zrank(A2+A4+D=4-

A det((A—D" YA +2DT) = -5

T tr((A+3DA+ 1) =42~
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at dx v
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2. (10%) ##2 y" + (sinx)y = e** o
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